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(1) y=x+1)(x+3) 2) y=(x+1)(x*=—x+1)
@) (x*+x+1)(x*—=1) @ y=(x—1)(x—2)(x+3)
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{FOO+900)Y = (x)+9" (x)
{FfOO—9C0))Y = (x)—g' (x)
@ {mflx)Eng(x)} =mf(x)xng'(x)
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® {f(x)g0) = O)a(x)+Ax)g"(x)
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{FO) g x)h(x)Y = O)g(x)n(x)+(x)g" (xOh(x)+ fx)g(x)n'(x)
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M y=x+1)(x+3)

y' =(x+1) (x+3)+x+1)(x+3)’
=1-" (x+3)+(x+1) -1
=x+3+x+1
=2x+4

(2) y=x+1)x*—x+1)
vy =(x+1) (x*=—x+1)+x+1)(x*—x+1)
=1 - (x*—x+1)+(x+1)(2x—1)
=x*—x+t1+2x*+x—1
=3x°*
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Q) y=x*+x+1)(x*—1)

y =x*+x+1) (x*—1)+x*+x+1)(x*—1)’
=2x+1)x*—1)+x*+x+1) 2%
=2x°—2x+x*—1+2x*+2x*+2yx
=4 x°*+3x*—1

4 y=x—1)(x—2)(x+3)
y =(x—1) (x—2)(x+3)+(x—1)(x—2)" (x+3)
+(x—1)(x—2)(x+3)’
=1 (x—2)(x+3)+(x—1)-1-(x+3)+ (x—1)(x—2) -1
=x?+x—6+x*+2x—3+x*—3 x+2
=83 x%*—7






